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        READTHEORY 
Name________________                                                                                                                                              
Date________________ 

••  AAnnaallooggiieess  11  Level 5  
  

  

DDiirreeccttiioonnss:: Choose the pair of words that 
best express a relationship similar to that 
of the original pair. Then write the bridge 
sentence(s) to the right.  
 

A finger is part of a hand. 
A leaf is part of a tree. 
 

  Example: 
BBrriiddggee  TTyyppee::  DDeeggrreeee  

##))        FASCINATING : INTERESTING 

AA))  amazing : incredible 

BB))  serious : grave 

CC))  crucial : important 

DD))  strange : weird 
 

  

BBrriiddggee  TTyyppee::  CChhaarraacctteerriissttiicc  
  

11))  MOUNTAIN : HIGH 

AA))  river : ugly 

BB))  valley : low 

CC))  forest : lonely 

DD))  desert : wet 
  

 
 

Bridge Sentence: 

  
A characteristic of a mountain is to be high. 
 
A characteristic of a __________ is to be 
__________. 

  

BBrriiddggee  TTyyppee::  FFuunnccttiioonn  
  

22))  TEACHER : EDUCATE 

AA))  senator : represent 

BB))  lawyer : instruct 

CC))  coach : condemn 

DD))  priest : annoy 
  

 
 

Bridge Sentence: 
  
The function of a teacher is to educate others. 
 
The function of a __________ is to 
__________  others. 

  

BBrriiddggee  TTyyppee::  CChhaarraacctteerriissttiicc  
  

33))  GOLD : EXPENSIVE 

AA))  jewelry : dull 

BB))  cotton : beautiful 

CC))  silver : outrageous 

DD))  velvet : soft 
  

 
 
Bridge Sentence: 

  
A characteristic of gold is to be expensive. 
 
A characteristic of __________ is to be 
__________. 

 

BBrriiddggee  TTyyppee::  DDeeffiinniittiioonn  
  

44))  MOTHER : FEMALE 

AA))  vegetable : green 

BB))  snake : dangerous 

CC))  rock : hard 

DD))  tree : old 
  

 
Bridge Sentence: 
  
A mother is, by definition, female. 
 
A __________ is, by definition, __________. 
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BBrriiddggee  TTyyppee::  DDeeggrreeee  
  

55))  INFURIATING : ANNOYING 

AA))  ruined : ugly 

BB))  devastated : sad 

CC))  depressed : intelligent 

DD))  arrogant : clever 
  

 
Bridge Sentence: 

  
Someone who is infuriating is very annoying. 
 
Someone who is __________ is very 
__________. 

  

BBrriiddggee  TTyyppee::  OOtthheerr  

66))  HELICOPTER : SKY 

AA))  canoe : street 

BB))  truck : river 

CC))  motorcycle : bus 

DD))  submarine : water 
  

 
 
Bridge Sentence: 

  
A helicopter travels in the sky. 
 
A __________ travels in the __________. 

  

BBrriiddggee  TTyyppee::  LLaacckk  

77))  UNKNOWN : FAME 

AA))  rapid : speed 

BB))  ignorant : education 

CC))  refined : manners 

DD))  lovely : sight 
  

 
 
Bridge Sentence: 

  
Someone who is unknown lacks fame. 
 
_____________________________________. 

 

BBrriiddggee  TTyyppee::  DDeeffiinniittiioonn  ((AAnnttoonnyymmss))  

88))  NICE : UNKIND 

AA))  hideous : pretty 

BB))  safe : solid 

CC))  loud : noisy 

DD))  terrible : awful 
  

 
Bridge Sentence: 

  
Nice is the opposite of unkind. 
 
_____________________________________. 

  

BBrriiddggee  TTyyppee::  FFuunnccttiioonn  

99))  TELEVISION : WATCHED 

AA))  record : baked 

BB))  newspaper : cooked 

CC))  novel : read 

DD))  comic : laughed 
  

BBrriiddggee  TTyyppee::  TTyyppee//KKiinndd  

1100))  PIE : DESSERT 

AA))  bacon : meat 

BB))  candy : drink 

CC))  cola : tea 

DD))  ham : beef 
  

 
Bridge Sentence: 

  
The function of a television is to be watched. 
 
_____________________________________. 

 
 
 
Bridge Sentence: 

 
_____________________________________. 

 
_____________________________________. 
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Answers and Explanations 

 
1) B 
A characteristic of a mountain is to be high. A characteristic of a valley is to be low. Therefore (B) is correct. 

 
2) A 
The function of a teacher is to educate others. The function of a senator is to represent others. Therefore (A) is correct. 

  
3) D 
A characteristic of gold is to be expensive. A characteristic of velvet is to be soft. Therefore (D) is correct. 
 
4) C 
A mother is, by definition, female. A rock is, by definition, hard. Therefore (C) is correct. 
 
5) B 
Someone who is infuriating is very annoying. Someone who is devastated is very sad. Therefore (B) is correct. 
 

6) D 

A helicopter travels in the sky. A submarine travels in the water. Therefore (D) is correct. 

 
7) B 

Fame is the quality of being famous or well known. Thus, someone who is unknown lacks fame. Ignorant means stupid or 
unaware. Thus, someone who is ignorant lacks education. Therefore (B) is correct. 

 
8) A 

Nice is the opposite of unkind. Hideous, or very ugly, is the opposite of pretty. Therefore (A) is correct. 

 

9) C 

The function of a television is to be watched. The function of a novel is to be read. Therefore (C) is correct. 

 

10) A 

Pie is a type of dessert. Bacon is a type of meat. Therefore (A) is correct. 


